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QUESTION 1

The ProjectManager selects the "Update units when costschange on resource assignments"optionon Calculations tab in
Project Details. The Budgeted Cost is $2,000 and the Budgeted Units is 80 for the resource on an activity. If the User
assigns the activity an Actual Cost of $1,000, what is the Actual Units for the resource?

A. 70

B. 40

C. 60

D. 80

Correct Answer: B

QUESTION 2

Select the best definition of Resource within Primavera P6 EPPM.
A. Labor effort required to complete an activity

B. Materials used to complete an activity

C. Anything used to complete an activity

D. Equipment required to complete an activity

Correct Answer: D

QUESTION 3

Identify two true statements regarding the rolling up of data within a Work Breakdown Structure (WBS).
A. Actual Data rolls up to a Parent level.

B. Actual Data rolls up to a Portfolio level.

C. Actual Data rolls up to a Resource level.

D. Actual Data rolls up to Program level

E. Actual Data rolls up to a Project level.

Correct Answer: BE
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QUESTION 4

Cost Variance is calculated as .

A. Earned Value Cost - Actual Cost

B. the Actual Cost of Work Performed

C. the Budgeted Cost of Work Scheduled

D. Budget at Completion - Earned Value Cost

Correct Answer: A

QUESTION 5

You are working in aproject plan that has been baselinedmultiple times. Each of thebaslined reflectsexpected effort for
three different sets of defined scope. After reviewing the plan, management has decided that a previous baseline/scope
definition will be used going forward.

Which action should be executed in the Client?

A. Restore

B. Copy/Paste

C. Export

D. Check Out

Correct Answer: A
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